

ORIGINAL RESEARCH

Dynamics of non-autonomous difference equation

A. Awawdeh¹ \cdot M. Aloqeili¹

Received: 20 April 2016 / Published online: 7 July 2016 © Korean Society for Computational and Applied Mathematics 2016

Abstract In this paper we study the asymptotic behavior and periodicity of the equation $x_{n+1} = p_n + \frac{x_n}{x_{n-1}}$, where $x_0 \ge 0$, $x_{-1} > 0$ and p_n is a positive bounded sequence.

Keywords Difference equations · Semicycles · Stability · Equilibrium point

Mathematics Subject Classification 39A10

1 Introduction

In this paper, we study the dynamics of the non-autonomous difference equation

$$x_{n+1} = p_n + \frac{x_n}{x_{n-1}} \tag{1}$$

where $x_0 \ge 0$, $x_{-1} > 0$ and p_n is a positive bounded sequence. This kind of difference equations has been considered in some articles cited below. Interested reader can go bach to these titles and the references cited therein. In [10] the authors studied the difference equation

$$x_{n+1} = A_n + \frac{x_{n-1}^p}{x_n^q},$$
(2)

M. Aloqeili maloqeili@birzeit.edu A. Awawdeh

A. Awawden aawawdah@birzeit.edu

¹ Department of Mathematics, Birzeit University, P.O. Box 14, Birzeit, Palestine

where $x_{-1} \ge 0, x_0 > 0$, the sequence A_n is a positive bounded sequence, p and $q \in [0, \infty)$. In [12] the authors studied an extension of this equation, which is

$$x_{n+1} = A + \frac{x_{n-1}^p}{x_n^q}.$$
(3)

In addition, the authors in [4, 6, 11] studied the dynamics of the difference equation

$$x_{n+1} = \alpha + \frac{x_{n-k}^p}{x_n^p} \tag{4}$$

where $p, \alpha \in [0, \infty)$ and x_{-1}, x_0 are positive numbers.

Finally, in [5, 8, 14] the authors studied the difference equation

$$x_{n+1} = p_n + \frac{x_{n-1}}{x_n}$$
(5)

where $x_0 > 0$, $x_{-1} \ge 0$ and p_n is a positive bounded sequence.

Motivated by the above papers we will study the boundedness and attractivity of the equation

$$x_{n+1} = p_n + \frac{x_n}{x_{n-1}},\tag{6}$$

where $x_0 \ge 0$, $x_{-1} > 0$ and p_n is a positive bounded sequence.

Studying the dynamics of Nonautonomous difference equations is an important and interesting subject in its own right. Nonautonomous difference equations have many applications in different areas such as economics, social sciences, biology,...etc. We cite here the book by Sedaghat [13] for applications of nonautonomous difference equations. Equation (1) could be obtained from the population model $y_{n+1} = (\mu K_n y_n)/(K_n y_{n-1} + (\mu - 1)y_n)$ by taking $x_n = 1/y_n$.

In order to have a self-content article, we list below some definitions of basic concepts discussed in the paper.

Definition 1.1 We say that a solution $\{x_n\}$ of a difference equation $x_{n+1} = f(x_n, x_{n-1}, \ldots, x_{n-k})$ is bounded and persists if there exist positive constants *m* and *M* such that $m \le x_n \le M$ for $n = -1, 0, \ldots$

Definition 1.2 We say that a solution $\{x_n\}$ of a difference equation $x_{n+1} = f(x_n, x_{n-1}, \ldots, x_{n-k})$ is periodic if there exists a positive integer p such that $x_{n+p} = x_n$. The smallest such positive integer p is called the prime period of the solution of the difference equation.

Definition 1.3 The equilibrium point of the equation $x_{n+1} = f(x_n, x_{n-1}, ..., x_{n-k})$, n = 0, 1, ... is the point that satisfies the condition $\bar{x} = f(\bar{x}, \bar{x}, ..., \bar{x})$.

Definition 1.4 Consider the difference equation $x_{n+1} = f(x_n, x_{n-1}, \dots, x_{n-k})$. Then

- (a) A positive semi-cycle of a solution $\{x_n\}$ of this equation is a string of terms $\{x_l, x_{l+1}, \ldots, x_m\}$, all greater than or equal to the equilibrium \bar{x} , with $l \leq -k$ and $m \leq \infty$ and such that either l = -k or l > -k and $x_{l-1} < \bar{x}$ and either $m = \infty$ or $m < \infty$ and $x_{m+1} < \bar{x}$.
- (b) A negative semi-cycle of a solution $\{x_n\}$ of this equation is a string of terms $\{x_l, x_{l+1}, \ldots, x_m\}$, all less than or equal to the equilibrium \bar{x} , with $l \ge -k$ and $m \le \infty$ and such that either l = -k or l > -k and $x_{l-1} \ge \bar{x}$ and either $m = \infty$ or $m < \infty$ and $x_{m+1} \ge \bar{x}$.

Definition 1.5 A solution of the difference equation $x_{n+1} = f(x_n, x_{n-1}, ..., x_{n-k})$ is called nonoscillatory if there exists $N \ge -k$ such that $x_n > \bar{x}$ for all $n \ge N$ of $x_n < \bar{x}$ for all $n \le N$. A solution $\{x_n\}$ is called oscillatory if it is not nonoscillatory.

In the next section, we discuss boundedness, persistence and invariant interval of solutions of Eq. (6). Then, semi-cycle behavior and attractivity of solutions are considered. Finally, existence of periodic solutions is studied.

2 Boundedness and persistence

Let p_n is a positive bounded sequence with

$$\liminf_{n \to \infty} p_n = p \ge 0 \quad \text{and} \quad \limsup_{n \to \infty} p_n = q < \infty.$$
(7)

The following results can be obtained and proved directly as in [5]. For the convenience of the reader, we refer to the main arguments in the proof.

Lemma 2.1 Assume Eq. (7) is satisfied. Let x_n be a solution of (6). Then,

(i) If p > 0, then {x_n} persists.
(ii) If p > 1, then {x_n} is bounded from above.

Proof Assume that p > 0. It's clear that $x_{n+1} > p_n$ from which we conclude that $\liminf_{n\to\infty} x_n \ge p$. Thus, x_n persists. To prove the second part we assume that p > 1. From part (i) we have $x_{n+1} \ge p - \epsilon$. Then we have $x_{n+1} \le p_n + \frac{x_n}{p-\epsilon}$. Referring to theorem B in [5], we get the result.

The following results are readily obtained as in [5]

Lemma 2.2 Assume that Eq. (7) is satisfied and p > 1, and let x_n be a solution of Eq. (6). If

$$\lambda = \liminf_{n \to \infty} x_n \quad and \quad \mu = \limsup_{n \to \infty} x_n,$$

then

$$\frac{pq-1}{q-1} \le \lambda \le \mu \le \frac{pq-1}{p-1} \tag{8}$$

Proof Let $\epsilon > 0$, then for $n \ge N_0(\epsilon)$, we have $\lambda - \epsilon \le x_n \le \mu + \epsilon$ and $p - \epsilon \le p_n \le q + \epsilon$. Then,

$$x_{n+1} \ge p - \epsilon + \frac{\lambda - \epsilon}{\mu + \epsilon}, \text{ as } n \to \infty \quad \lambda \ge p + \frac{\lambda}{\mu},$$
(9)

and

$$x_{n+1} \le q + \epsilon + \frac{\mu + \epsilon}{\lambda - \epsilon}, \text{ as } n \to \infty \quad \mu \le q + \frac{\mu}{\lambda}.$$
 (10)

Hence,

$$\mu p + \lambda \le \lambda \mu \le q\lambda + \mu.$$

Then,

$$\mu(p-1) \le \lambda(q-1),$$

so we get

$$\frac{\mu}{\lambda} \le \frac{q-1}{p-1}$$
 and $\frac{\lambda}{\mu} \ge \frac{p-1}{q-1}$.

For $n > N_0$ Eqs. (9) and (10) give

$$x_{n+1} \ge p - \epsilon + \frac{\lambda - \epsilon}{\mu + \epsilon} = \frac{pq - 1}{q - 1} + O(\epsilon),$$

and

$$x_{n+1} \le q + \epsilon + \frac{\mu + \epsilon}{\lambda - \epsilon} = \frac{pq - 1}{p - 1} + O(\epsilon).$$

Then,

$$\lambda \ge \frac{pq-1}{q-1}$$
, and $\mu \le \frac{pq-1}{p-1}$.

So we get

$$\frac{pq-1}{q-1} \le \lambda \le \mu \le \frac{pq-1}{p-1}.$$

which is the required result.

Theorem 2.1 Consider the interval $I = [\frac{PQ-1}{Q-1}, \frac{PQ-1}{P-1}]$, where $1 < P \le p_n \le Q$, for n = 0, 1, 2, ... If x_n is a solution of Eq. (6) such that $x_{-1}, x_0 \in I$, then $x_n \in I$ for all n = 1, 2, ...

Proof

$$x_1 = p_0 + \frac{x_0}{x_{-1}}.$$

Now, $x_{-1}, x_0 \in I = \left[\frac{PQ-1}{Q-1}, \frac{PQ-1}{P-1}\right]$ then,

$$x_1 = p_0 + \frac{x_0}{x_{-1}} \le \frac{PQ - 1}{P - 1}$$

and

$$x_1 = p_0 + \frac{x_0}{x_{-1}} \ge \frac{PQ - 1}{Q - 1}.$$

So $x_1 \in I$. Then we proceed by induction.

3 Attractivity

Assume that \bar{x} is a positive solution of (6). Here we are interested in finding sufficient conditions such that \bar{x} attracts all the positive solutions of the equation x_n of Eq. 6. Now, let

$$y_n = \frac{x_n}{\bar{x}_n}, \quad n = -1, 0, 1, \dots$$
 (11)

Equation (6) becomes after substituting from (11)

$$y_{n+1} = \frac{p_n + \frac{\bar{x}_n}{\bar{x}_{n-1}} \frac{y_n}{y_{n-1}}}{p_n + \frac{\bar{x}_n}{\bar{x}_{n-1}}}.$$
 (12)

Lemma 3.1 Let x_n be a positive solution of Eq. (6). Then the following are true

- (i) Equation (12) has a positive equilibrium solution $\bar{y} = 1$.
- (ii) If for some $n, y_{n-1} < y_n$, then $y_{n+1} > 1$. Similarly, if for some $n, y_{n-1} \ge y_n$, then $y_{n+1} \le 1$.

Proof (ii)Assume that for some n, $y_{n-1} < y_n$, then $\frac{y_n}{y_{n-1}} > 1$.

$$y_{n+1} = \frac{p_n + \frac{\bar{x}_n}{\bar{x}_{n-1}} \left(\frac{y_n}{y_{n-1}}\right)}{p_n + \frac{\bar{x}_n}{\bar{x}_{n-1}}} > \frac{p_n + \frac{\bar{x}_n}{\bar{x}_{n-1}}}{p_n + \frac{\bar{x}_n}{\bar{x}_{n-1}}} = 1.$$

So $y_{n+1} > 1$.

 Spri	inger
	0

Similarly, assume $y_{n-1} \ge y_n$, then $\frac{y_n}{y_{n-1}} \le 1$. Now,

$$y_{n+1} = rac{p_n + rac{\bar{x}_n}{\bar{x}_{n-1}} \left(rac{y_n}{y_{n-1}}
ight)}{p_n + rac{\bar{x}_n}{\bar{x}_{n-1}}} \le rac{p_n + rac{\bar{x}_n}{\bar{x}_{n-1}}}{p_n + rac{\bar{x}_n}{\bar{x}_{n-1}}} = 1.$$

So $y_{n+1} \le 1$.

Theorem 3.1 (a) Assume that there exists n such that $y_{n-1} < 1$ and $y_n > 1$ and $y_{n+2} < y_{n+3} < y_{n+4} < \cdots$

- (i) If $y_n > y_{n+1}$, then $y_{n+k} > 1$ for all k = 4, 5, ...
- (ii) If $y_n < y_{n+1}$ and $y_{n+2} > y_{n+1}$, then $y_{n+k} > 1$ for all k = 1, 2, ...
- (b) Assume that there exists n such that $y_{n-1} > 1$ and $y_n < 1$ and $y_{n+2} < y_{n+3} < y_{n+4} < \cdots$
 - (i) If $y_n > y_{n+1}$ and $y_{n+2} > y_{n+1}$, then $y_{n+k} > 1$ for all k = 3, 4, ...
 - (ii) If $y_n < y_{n+1}$, then $y_{n+k} > 1$ for all k = 2, 3, ...

Proof (a) Assume that $y_{n-1} < 1$ and $y_n > 1$, then $\frac{y_n}{y_{n-1}} > 1$, which concludes that

$$y_{n+1} = \frac{p_n + \frac{\bar{x}_n}{\bar{x}_{n-1}} \left(\frac{y_n}{y_{n-1}}\right)}{p_n + \frac{\bar{x}_n}{\bar{x}_{n-1}}} > \frac{p_n + \frac{\bar{x}_n}{\bar{x}_{n-1}}}{p_n + \frac{\bar{x}_n}{\bar{x}_{n-1}}} = 1.$$

(i) It follow that y_{n+2} and y_{n+3} are less than 1.

Now, to prove the main result we will use the mathematical induction. Assume that $y_{n+2} < y_{n+3} < y_{n+4} < \dots$ For k = 4

$$y_{n+4} = \frac{p_{n+3} + \frac{\bar{x}_{n+3}}{\bar{x}_{n+2}} \left(\frac{y_{n+3}}{y_{n+2}} \right)}{p_{n+3} + \frac{\bar{x}_{n+3}}{\bar{x}_{n+2}}} > \frac{p_{n+3} + \frac{\bar{x}_{n+3}}{\bar{x}_{n+2}}.(1)}{p_{n+3} + \frac{\bar{x}_{n+3}}{\bar{x}_{n+2}}} = 1.$$

Assume that $y_{n+k} > 1$ for all k = 5, 6, 7, ..., m. We will prove the result for k = m+1. According to the assumption $y_{n+m} > y_{n+m-1}$, then $\frac{y_{n+m}}{y_{n+m-1}} > 1$, and as a result

$$y_{n+m+1} = \frac{p_{n+m} + \frac{\bar{x}_{n+m}}{\bar{x}_{n+m-1}} \left(\frac{y_{n+m}}{y_{n+m-1}}\right)}{p_{n+m} + \frac{\bar{x}_{n+m}}{\bar{x}_{n+m-1}}} > \frac{p_{n+m} + \frac{\bar{x}_{n+m}}{\bar{x}_{n+m-1}}.(1)}{p_{n+m} + \frac{\bar{x}_{n+m}}{\bar{x}_{n+m-1}}} = 1$$

Hence $y_{n+k} > 1$ for all k = 4, 5, 6, ...

(ii) One can easily show that y_{n+2} and y_{n+3} are greater than 1. Assume that $y_{n+k} > 1$ for all k = 4, 5, 6, ..., m. We will prove the result for k = m + 1. According to the assumption $y_{n+m} > y_{n+m-1}$, then $\frac{y_{n+m}}{y_{n+m-1}} > 1$, and as a result

$$y_{n+m+1} = \frac{p_{n+m} + \frac{\bar{x}_{n+m}}{\bar{x}_{n+m-1}} \left(\frac{y_{n+m}}{y_{n+m-1}}\right)}{p_{n+m} + \frac{\bar{x}_{n+m}}{\bar{x}_{n+m-1}}} > \frac{p_{n+m} + \frac{\bar{x}_{n+m}}{\bar{x}_{n+m-1}}.(1)}{p_{n+m} + \frac{\bar{x}_{n+m}}{\bar{x}_{n+m-1}}} = 1.$$

Hence $y_{n+k} > 1$ for all k = 1, 2, ...

(b) Assume that $y_{n-1} > 1$ and $y_n < 1$, then $\frac{y_n}{y_{n-1}} < 1$, thus we have

$$y_{n+1} = \frac{p_n + \frac{\bar{x}_n}{\bar{x}_{n-1}} \left(\frac{y_n}{y_{n-1}}\right)}{p_n + \frac{\bar{x}_n}{\bar{x}_{n-1}}} < \frac{p_n + \frac{\bar{x}_n}{\bar{x}_{n-1}}.(1)}{p_n + \frac{\bar{x}_n}{\bar{x}_{n-1}}} = 1.$$

(i) The assumption in this implies that $y_{n+2} < 1$ and $y_{n+3} > 1$.

Assume that the result holds for k = 4, 5, 6, ..., m. We need to prove the result for k = m + 1. It's assumed that $y_{n+m-1} < y_{n+m}$, so $\frac{y_{n+m}}{y_{n+m-1}} > 1$ and as a result

$$y_{n+m+1} = \frac{p_{n+m} + \frac{\bar{x}_{n+m}}{\bar{x}_{n+m-1}} \left(\frac{y_{n+m}}{y_{n+m-1}}\right)}{p_{n+m} + \frac{\bar{x}_{n+m}}{\bar{x}_{n+m-1}}} > \frac{p_{n+m} + \frac{\bar{x}_{n+m}}{\bar{x}_{n+m-1}}.(1)}{p_{n+m} + \frac{\bar{x}_{n+m}}{\bar{x}_{n+m-1}}} = 1.$$

Then $y_{n+k} > 1$ for all k = 3, 4, ...

(ii) Clearly, we have $y_{n+2} > 2$ in this case.

Assume that the result holds for k = 3, 4, ..., m, we must prove that this result holds for k = m + 1 and we have that $y_{n+m-1} < y_{n+m}$. Thus

$$y_{n+m+1} = \frac{p_{n+m} + \frac{\bar{x}_{n+m}}{\bar{x}_{n+m-1}} \left(\frac{y_{n+m}}{y_{n+m-1}}\right)}{p_{n+m} + \frac{\bar{x}_{n+m}}{\bar{x}_{n+m-1}}} > \frac{p_{n+m} + \frac{\bar{x}_{n+m}}{\bar{x}_{n+m-1}}.(1)}{p_{n+m} + \frac{\bar{x}_{n+m}}{\bar{x}_{n+m-1}}} = 1.$$

Hence, $y_{n+k} > 1$ for all k = 2, 3, ...

We have also the following theorem which can be proved as above.

Theorem 3.2 (a) Assume that there exists n such that $y_{n-1} < 1$, $y_n > 1$ and $y_{n+2} > y_{n+3} > y_{n+4} > \cdots$

- (i) If $y_n > y_{n+1}$, then $y_{n+k} < 1$ for all k = 2, 3, ...
- (ii) If $y_n < y_{n+1}$ and $y_{n+2} < y_{n+1}$, then $y_{n+k} < 1$ for all k = 3, 4, ...
- (b) Assume that there exists n such that $y_{n-1} > 1$, $y_n < 1$ and $y_{n+2} > y_{n+3} > y_{n+4} > \cdots$
 - (i) If $y_n < y_{n+1}$, then $y_{n+k} < 1$ for all k = 4, 5, ...
 - (ii) If $y_n > y_{n+1}$, then $y_{n+k} < 1$ for all k = 1, 2, ...

Theorem 3.3 If $y_n > y_{n+1} > 1$ and $\frac{y_{n+k}}{y_{n+k-1}} > 1$ for k = 2l + 1, where *l* is an odd number and $\frac{y_{n+k}}{y_{n+k-1}} < 1$ for k = 4l + 1, l = 1, 2, 3, ..., then every semicycle has two terms with positive semicycle followed by negative semicycle each of which consists of two terms.

Proof To prove this theorem we use mathematical induction. Assume $y_{n+1} > 1$ and $y_{n+2} < 1$, then $y_{n+3} < 1$ and according to the assumption $y_{n+4} > 1$, consequently $y_{n+5} > 1$. Assume that the result holds for *l*, in other words for k = 7, 11, ..., 2l + 1, where *l* is an odd number we have that $\frac{y_{n+k}}{y_{n+k-1}} > 1$, and for k = 5, 9, ..., 4l + 1,

where l = 1, 2, ... we have that $\frac{y_{n+k}}{y_{n+k-1}} < 1$, and thus every positive semicycle with two terms is followed by a negative semicycle with two terms, in other words

$$y_{n+2l+2} = \frac{p_{n+2l+1} + \frac{\bar{x}_{n+2l+1}}{\bar{x}_{n+2l}} \left(\frac{y_{n+2l+1}}{y_{n+2l}}\right)}{p_{n+2l+1} + \frac{\bar{x}_{n+2l+1}}{\bar{x}_{n+2l}}} > 1$$

and $y_{n+2l+3} > 1$, the elements y_{n+2l+2} and y_{n+2l+3} constitute a positive semicycle with two terms. And

$$y_{n+4l+2} = \frac{p_{n+4l+1} + \frac{\bar{x}_{n+4l+1}}{\bar{x}_{n+4l}} \left(\frac{y_{n+4l+1}}{y_{n+4l}}\right)}{p_{n+4l+1} + \frac{\bar{x}_{n+4l+1}}{\bar{x}_{n+4l}}} < 1$$

and $y_{n+4l+3} > 1$, the elements y_{n+4l+2} and y_{n+4l+3} form a negative semicycle with two terms.

Now, for k = 2(l+2) + 1 = 2l + 5, l is an odd number we have

$$y_{n+k+1} = \frac{p_{n+k} + \frac{\bar{x}_{n+k}}{\bar{x}_{n+k-1}} \left(\frac{y_{n+k}}{y_{n+k-1}} \right)}{p_{n+k} + \frac{\bar{x}_{n+k}}{\bar{x}_{n+k-1}}}.$$

$$y_{n+2l+6} = \frac{p_{n+2l+5} + \frac{\bar{x}_{n+2l+5}}{\bar{x}_{n+2l+4}} \left(\frac{y_{n+2l+5}}{y_{n+2l+4}}\right)}{p_{n+2l+5} + \frac{\bar{x}_{n+2l+5}}{\bar{x}_{n+2l+4}}} > 1,$$

and $y_{n+2l+7} > 1$, so $\{y_{n+2l+6}, y_{n+2l+7}\}$ is a positive semicycle with two terms. For k = 4(l+1) + 1 = 4l + 5, where l = 1, 2, ...

$$y_{n+4l+6} = \frac{p_{n+4l+5} + \frac{\bar{x}_{n+4l+5}}{\bar{x}_{n+4l+4}} \left(\frac{y_{n+4l+5}}{y_{n+4l+4}}\right)}{p_{n+4l+5} + \frac{\bar{x}_{n+4l+5}}{\bar{x}_{n+4l+4}}} < 1,$$

and $y_{n+4l+7} < 1$, so $\{y_{n+4l+6}, y_{n+4l+7}\}$ is a negative semicycle with two terms. \Box

Theorem 3.4 If $y_{n+1} > y_n > 1$ and $\frac{y_{n+k}}{y_{n+k-1}} < 1$ for k = 2l + 1, l is an odd number and $\frac{y_{n+k}}{y_{n+k-1}} > 1$ for k = 2, k = 4l + 1, l = 1, 2, 3, ..., then every semicycle has two terms with positive semicycle followed by two terms negative semicycle.

Theorem 3.5 If $y_n < y_{n+1} < 1$ and $\frac{y_{n+k}}{y_{n+k-1}} < 1$ for k = 2l + 1, l is an odd number and $\frac{y_{n+k}}{y_{n+k-1}} > 1$ for k = 4l + 1, l = 1, 2, 3, ..., then every semicycle has two terms with positive semicycle followed by negative semicycle.

Theorem 3.6 If $y_{n+1} < y_n < 1$ and $\frac{y_{n+k}}{y_{n+k-1}} < 1$ for k = 2, k = 4l+1, l = 1, 2, 3, ...and $\frac{y_{n+k}}{y_{n+k-1}} > 1$ for k = 2l+1, l is an odd n, then every semicycle has two terms with negative semicycle followed by positive semicycle. **Theorem 3.7** *Every nonoscillatory solution to* Eq. (12) *converges to 1.*

Proof Let y_n be a nonoscillatory solution of Eq. (12), then

$$y_n < 1$$
, or $y_n > 1$, $n \ge N_0$.

Without loss of generality, assume that $y_n < 1$, for $n \ge N_0$. Claim

 $y_{n+1} < y_n.$

In order to prove this claim, assume the contrary, in other words there exists m such that

$$y_{m+1} > y_m$$

Now,

$$\frac{y_{m+1}}{y_m} > 1$$

which implies that $y_{m+2} > 1$. This contradicts the assumption, so our claim is valid. Hence,

$$y_{n+1} < y_n, \quad n \ge N_0.$$

Now,

$$y_{n+1} = \frac{p_n + \frac{\bar{x}_n}{\bar{x}_{n-1}} \frac{y_n}{y_{n-1}}}{p_n + \frac{\bar{x}_n}{\bar{x}_{n-1}}}.$$
$$|y_{n+1} - 1| = \left| \frac{\frac{\bar{x}_n}{\bar{x}_{n-1}} \left(\frac{y_n}{y_{n-1}} - 1 \right)}{p_n + \frac{\bar{x}_n}{\bar{x}_{n-1}}} \right|.$$
(13)

 p_n is a positive sequence. So

$$|y_{n+1} - 1| < 1. \left| \frac{y_n}{y_{n-1}} - 1 \right|$$

Now, $\frac{y_n}{y_{n-1}} < 1$ and $y_{n+1} < 1$, hence,

$$1 - y_{n+1} < 1 - \frac{y_n}{y_{n-1}},$$

then

thus,

 $y_{n+1} > \frac{y_n}{y_{n-1}},$ (14)

 $y_{n+1} < 1$, so as $n \to \infty$ we have $\liminf_{n \to \infty} y_n = \eta \le 1$, that is

 $\liminf_{n\to\infty} y_n = \eta \le 1.$

 $-y_{n+1} < -\frac{y_n}{y_{n-1}},$

And according to Eq. (14) we conclude that

 $y_{n+1}y_{n-1}y_n^{-1} > 1.$

As $n \to \infty$

 $\eta^{1+1-1} = \eta \ge 1.$

So

$$\eta = \liminf_{n \to \infty} y_n = 1.$$

Also we have $y_{n+1} < 1$, so as $n \to \infty$ we have $\limsup_{n\to\infty} y_n = \gamma \le 1$, that is

 $\limsup_{n\to\infty} y_n = \gamma \le 1.$

And according to Eq. (14) we conclude that

 $y_{n+1}y_{n-1}y_n^{-1} > 1.$

As $n \to \infty$

$$\gamma^{1+1-1} = \gamma \ge 1.$$

So

$$\gamma = \limsup_{n \to \infty} y_n = 1.$$

Then, $\liminf_{n\to\infty} y_n = \limsup_{n\to\infty} y_n = 1$, then $\lim_{n\to\infty} y_n = 1$.

4 Periodic solutions

Definition 4.1 We say that $\{p_n\}$ is periodic with prime period k if

$$p_{n+k} = p_n$$
 for $n = -1, 0, ...$

Assume that $\{p_n\}$ is periodic with prime period k.

$$p = \liminf_{n \to \infty} p_n$$

and

$$q = \limsup_{n \to \infty} p_n$$

Lemma 4.1 A necessary condition for the existence of a periodic solution $\{x_n\}$ of Eq. (6) with prime period k is that $\{p_n\}$ is periodic with prime period k.

Proof Assume that x_n is a periodic solution with prime period k, so we have $x_{n+k} = x_n$, for n = -1, 0, ..., we have

$$x_{n+k+1} = p_{n+k} + \frac{x_{n+k}}{x_{n+k-1}}$$

So we get that

$$p_{n+k} = x_{n+k+1} - \frac{x_{n+k}}{x_{n+k-1}} = x_{n+1} - \frac{x_n}{x_{n-1}} = p_n.$$

Then $p_{n+k} = p_n$, this means that p_n is periodic with period k.

Theorem 4.1 Assume that p_n is periodic with prime period k, and let 1 . $Then there exists a positive periodic solution <math>\{\bar{x}_n\}$ of Eq. (6) with prime period k.

Proof We aim here to show that there is a periodic solution for Eq. (6) with period *k*. It is enough to show that the system has a positive solution

$$x_{1} = p_{0} + \frac{x_{0}}{x_{-1}} = p_{k} + \frac{x_{k}}{x_{k-1}}$$
$$x_{2} = p_{1} + \frac{x_{1}}{x_{0}} = p_{1} + \frac{x_{1}}{x_{k}}$$
$$\vdots$$
$$x_{k} = p_{k-1} + \frac{x_{k-1}}{x_{k-2}}.$$

Define a function $F : \mathbb{R}^k_+ \to \mathbb{R}^k_+$ such that,

$$F(u_1, u_2, \ldots, u_k) = \left(p_k + \frac{u_k}{u_{k-1}}, p_1 + \frac{u_1}{u_k}, \ldots, p_{k-1} + \frac{u_{k-1}}{u_{k-2}} \right).$$

In addition define an interval $I = \begin{bmatrix} \frac{pq-1}{q-1}, \frac{pq-1}{p-1} \end{bmatrix}$. Now, we aim to show that I^k is invariant under the function *F*. If $u_1, u_2, \ldots, u_k \in I$, we have

$$p_i + \frac{u_i}{u_j} \le \frac{pq-1}{p-1}, \quad i = 1, 2, \dots, k, \ j = (i-1)mod(k),$$
$$p_i + \frac{u_i}{u_j} \ge \frac{pq-1}{q-1}, \quad i = 1, 2, \dots, k, \ j = (i-1)mod(k).$$

Then $p_i + \frac{u_i}{u_j} \in I$ for i = 1, ..., k, j = (i - 1)mod(k). So I^k is invariant under the function F. Now, we have $F : I^k \to I^k$ and F is continuous on I^k and I^k is convex and compact. Then, by Brower Fixed Point Theorem F has a fixed point in I^k .

Assume that the fixed point is $(\bar{u}_1, \bar{u}_2, \dots, \bar{u}_k) \in I^k$. Define the sequence

$$\bar{x}_{-1} = \bar{u}_{k-1}, \quad \bar{x}_0 = \bar{u}_k \text{ and } \bar{x}_{mk+i} = \bar{u}_i, \text{ for } i = 1, 2, \dots, \quad m = 0, 1, \dots$$

This sequence satisfies the Eq. (6) and is periodic with period k.

Corollary 4.1 Assume that $\{p_n\}$ is a convergent sequence and

$$\lim_{n \to \infty} p_n = p > 1$$

Then every solution $\{x_n\}$ of Eq. (6) is convergent and

$$\lim_{n \to \infty} x_n = p + 1.$$

Proof p_n is bounded so $\{x_n\}$ is bounded and persists according to (2.1). Moreover, we have

$$\lambda = \liminf_{n \to \infty} x_n$$
 and $\mu = \limsup_{n \to \infty} x_n$.

And

$$p = \liminf_{n \to \infty} p_n$$
 and $q = \limsup_{n \to \infty} p_n$

And from Lemma (2.2) we have that

$$\frac{pq-1}{q-1} \le \lambda \le \mu \le \frac{pq-1}{p-1}.$$

🖉 Springer

 p_n is convergent so $p = \liminf_{n \to \infty} p_n = \limsup_{n \to \infty} p_n = q$. Then we have that

$$p+1 = \frac{p^2 - 1}{p-1} \le \lambda \le \mu \le \frac{p^2 - 1}{p-1} = p+1.$$

So we have $\lambda = \mu = p + 1$. Then as a result we get $\lim_{n \to \infty} x_n = p + 1$.

References

- 1. Amleh, A.M., Grove, E.A., Ladas, G., Georgiou, D.A.: On the recursive sequence $x_{n+1} = a + \frac{x_{n-1}}{x_n}$. J. Math. Anal. Appl. 233(2), 790-798 (1999)
- 2. Barehaut, K.S., Foley, J.D., Stevic, S.: The global attractivity of the rational difference equation $y_n =$
- $1 + \frac{y_{n-k}}{y_{n-m}}$. Proc. Am. Math. Soc. **135**(4), 1133–1140 (2007) 3. Barehaut, K.S., Foley, J.D., Stevic, S.: The global attractivity of the rational difference equation $y_n =$ 1 + $(\frac{y_{n-k}}{y_{n-m}})^p$. Proc. Am. Math. Soc. **136**(1), 103–110 (2008) 4. Barehaut, K.S., Stevic, S.: A note on positive nonoscillatory solutions of the difference equations
- $x_{n+1} = \alpha + \frac{x_{n-k}^p}{x_n^p}$. J. Differ. Equ. Appl. **12**(5), 495–499 (2006)
- 5. Devault, R., Kocic, V., Stutson, D.: Global behavior of solutions of the nonlinear difference equation $x_{n+1} = p_n + \frac{x_{n-1}}{x_n}$. J. Differ. Equ. Appl. **11**(8), 707–719 (2005)
- 6. El-Owaidy, H.M., Ahmed, A.M., Mousa, M.S.: On asymptotic behaviorof the difference equation $x_{n+1} = a + \frac{x_{n-1}^{p}}{x_{n-1}^{p}}$. J. Appl. Math. Comput. **12**(12), 31–37 (2003)
- 7. Grove, E.A., Ladas, G.: Peridicities in Nonlinear Difference Equations. Chapman and Hall/CRC, Boca Raton/London (2005)
- 8. Kulenovic, M., Ladas, G., overdeep, C.B.: on the dynamics of $x_{n+1} = p_n + \frac{x_{n-1}}{x_n}$, with a period-two coefficient. J. Differ. Equ. Appl. 10(10), 905-914 (2004)
- 9. Öcalan, Ö.: Asymptotic behavior of a higher-order recursive sequence. Int. J. Differ. Equ. 7(2), 175-180 (2012)
- 10. Papaschinopoulos, G., Schinas, C.G., Stefanidou, G.: On the recursive sequence $x_{n+1} = A_n + \frac{x_{n-1}^{\mu}}{\frac{x_n}{g}}$. Appl. Math. Comput. 217, 5573-5580 (2011)
- 11. Papaschinopoulos, G., Schinas, C.J., Stefanidou, G.: Boundedness, periodicity and stability of the difference equation $x_{n+1} = A_n + (\frac{x_{n-1}}{x_n})^p$. Int. J. Dyn. Syst. Differ. Equ. 1(2), 109–116 (2007)
- 12. Schinas, C.J., Papaschinopoulos, G., Stefanidou, G.: On the recursive sequence $x_{n+1} = A + \frac{x_{n-1}^p}{\sqrt{q}}$. Adv. Differ. Equ. 2009 (2009)
- 13. Sedaghat, H.: Nonlinear Difference Equations: Theory with Applications to Social Science Models. Kluwer Academic Publishers, Dordrecht (2003)
- 14. Stevic, S.: On the recursive sequence $x_{n+1} = \alpha_n + \frac{x_{n-1}}{x_n}$ II. Dyn. Contin. Discret. Impuls. Syst. Ser. A. Math. Anal. 10(6), 911-916 (2003)